3aK/siloueHme

Aapo

CyMmMa npoTOHOB M HEMTPOHOB

MaccoBoe uncno - A

HentpoH (n)

— yCNoBHO Macca: 1
— ycnoBHo 3apag: 0

Yumcno NpoToHOoB - p

N

MpoTtoH (p)

— YCJIOBHO Macca: 1

— yCNOBHO 3apag: +1

pasHoe OANHaKoBOE OAMHaKoBOE
uncno uncno uncno
(konnuecTBo) B aTOMe
| ()
M3oTon ATOM
3/1eKTPOHENTPaNEH

v

DNEeKTPOH

ANeKTpoH (e)

— ycnoBHO macca: 1/1840
— YC/I0BHO 3apsag;: -1

ABUXKETCA
BOKpPYT

aapa

Haxopasatcs
Ha 3/1eKTPOHHbIX
CNnosx

— OAMNHaKOBble XnMMnveckKkme CBOWCTBA
— Pa3nyHblie q)I/IBI/Il-IeCKI/Ie CBOWCTBA




